
 
 

 

 

 

fUehlf ,ir (tha;g;ghl;L/taypd;/tPiz) 
jjuukk;;::  55  
 
mmwwppKKiiwwjj;;NNjjuu;;TT                112200  eeppkkppllqq;;ffss;;  

 
  
  
ggFFjjpp  11  rruuppaahhdd  ttppiillaappdd;;  ffPPoo;;  ffPPwwppLLff..      (5 x 2 = 10 Gs;spfs;)  
 

 

 

1.  Nkiyj;Nja thj;jpaq;fspy; xd;W 
 
 1). tPiz 2). jtpy; 3). gpahNdh  4). RUjpg;ngl;b 
 
 
2.  ,irf;fr;Nrupapy; ghLtjw;fhf cUthd cUg;gb tifia  

miog;gJ 
    

1). rghfhdk; 2). jpupahq;fk; 3). mg;gpahrfhdk; 4). fhdk; 
 
 
3.  rg;j jhs myq;fhuq;fspy; mlq;fpa [hjpfs; 
 
 1. %d;W 2. ehd;F 3. Ie;J 4. VO 
 
 
4.  rhfpj;jpak; ,y;yhj cUg;gb 
   

1). myq;fhuk; 2). fPjk; 3). [jP];tuk; 4).Njthuk; 
 
 
5.  rpahkhrh];jpupfspd; nrhj;J vdf; $wg;gLk; ,uhfk; 
 
 1). igutp  2). Mde;jigutp  3). Njhb 4). Nkhfdk; 



 
 

 

  
  
  
ggFFjjpp  22    ffPPwwppll;;ll  ,,lljj;;iijj  eeppuugg;;GGff      (10 x 3 = 30 Gs;spfs;)  
  
  
1. fPu;j;jidfspy; Kf;fpa gFjpahff; fUjg;gLtJ 
   
  ……………………………………………..………………………  MFk;. 
 
2. Ngjkpy;yhj ];tuq;fs; ………………………….. vd;W miof;fg;gLk;. 
 
 
3. rghfhdj;jpw;Fk; mg;gpahrfhdj;jpw;Fk; nghJthf ghtpf;fg;gLk; ,uz;L  
 
  cUg;gbfs; …………………………….………… , …………………….……..…………  MFk;. 
 
4. [dfuhfq;fis …………………………………………. vd;W miog;gu;. 
 
 
5. jpUg;Gfio ……………………………………………………. ,aw;wpdhu;. 
 
 
6. gQ;ruj;jpdf; fpUjpfis ,aw;wpatu; ……………………………………. 
 

7. ml jhs tu;zk; xd;wpd; ,uhfj;ijf; Fwpg;gpLf.  
    
  ……………………………………………………………………………… 
 
8. 72 Nksfu;j;jhf;fspy; ………………………………  rf;fuq;fs; cz;L.    
 
9. jha; ,uhfj;jpypUe;J tuhj ];tuj;ij ……………………………vd;W  
  miog;gu;. 
 



 
 

 

10. ];tuq;fs; gbg;gbahf Nky; Nehf;fpr; nry;tJ  
    
   ……………………………………………………… vd;W miof;fg;gLk;. 
 

 
ggFFjjpp  33  vviittNNaaDDkk;;  %%dd;;WW  ttppddhhff;;ffSSff;;FF  ttppiill  jjUUff..  
  
 
1. fPu;j;jidapd; Kf;fpa jd;ikfs; gw;wp RUf;fkhf vOJf. 

 
 
2. fpUjpf;Fk; fPu;j;jidf;Fk; ,ilNa cs;s xw;Wik Ntw;Wikfs;  
gw;wp vOJf. 

 
 
3. etuhfkhypfh tu;zk; ,aw;wg;gl;Ls;s ,uhfq;fspd; ngau;fisj; 
jUf. 

 
 
4. fu;ehlf ,irapd; Kk;%u;j;jpfs; xUtupd; ,irj;njhz;bidg; gw;wp 
RUf;fkhf vOJf. 

 
 
5. jkpopir gw;wp tpsf;fk; jUf. 

(3 x 20 = 60 Gs;spfs;) 


